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Kinetic model formulation (section 2.3)
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Fig. S1. Relative concentration of Si(OH)4 and Si(OC2H5)(OH)3 for the reactions at different pH and temperature.
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Fig. S2. Relative concentrations of TEOS, hydrolyzed species and the total condensed species at pH 3.8 and 277.2 K, 283.2 K,  293.2 K, and 313.2 K, as a function of (a, c, e, g) reaction time and (b, d, f, h) TEOS conversion. Symbols (, TEOS; , Si(OC2H5)3(OH);  Si(OC2H5)2(OH)2; , Si(OC2H5)(OH)3.  Si(OH)4;   total condensed species) show experimental values and continuous lines show the calculated curves.
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Fig. S3. Relative concentrations of TEOS, hydrolyzed species and the total condensed species at pH 4.1 and at 277.2 K, 283.2 K,  293.2 K and 313.2 K as a function of (a, c, e, g) reaction time and (b, d, f, h) TEOS conversion. Symbols (, TEOS; , Si(OC2H5)3(OH);  Si(OC2H5)2(OH)2; , Si(OC2H5)(OH)3.  Si(OH)4;  total condensed species) show experimental values and continuous lines show the calculated curves.
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Fig. S4. Relative concentrations of TEOS, hydrolyzed species and the total condensed species at pH 4.4 and at 277.2 K, 283.2 K,  293.2 K and 313.2 K as a function of (a, c, e, g) reaction time and (b, d, f, h) TEOS conversion. Symbols (, TEOS; , Si(OC2H5)3(OH);  Si(OC2H5)2(OH)2; , Si(OC2H5)(OH)3.  Si(OH)4;  total condensed species) show experimental values and continuous lines show the calculated curves.
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